No. of Printed Pages : 11 +! 62 —‘, 0 4 09 6047

Al

udley eremr ‘ .
Register Numhcr| v A Y 7 _7,]

UARERRTTGTIAR

&Te ety : 3.00 wenfl CryLd |
Time Allowed : 3.00 Hours ]

PART - III
Qunmeaflwer / ECONOMICS

( s wHmb phde el / Tamil & English Version)

[ Quorés wHubuemser : 90
[ Maximum Marks : 90

efleyenraet : (1) Soanss elamésenb sfurs udeaurdl o eengm eramigmar eflurisg)é

Instructions :

@y :

Note :

(i)

(i)
(i)

(2)

Qsmeterayid. SEsUILSND GapudmLden, Sienné sansTenilumrerflLLb
o L anqwas Qsfledésewb.

Beod  Sdeg s@UY @wulaman wLLECL  eT(WaUsH G
<y 6Camy QaugpEb Lwau®ss Cauar@h. ULRISH umrausne
Quenfled LwaTUHSSeLD.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.
LGS - I/ PART -1
Siemenggl elamasEnsEh eloLwaflsaw. 20x1=20

Qar@&alul@drer wrpm el safle) Wsabd ghyamLw elamLmws
Caip0s0586 GOUILELe dloLwlmanybd Gsigg) er(pseD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. @bdHureden apemreug) Quflw sieuGge efwren Hlavawiors afilomen
Heveowd efermi@dmg. |
(=) Qscenar (<) epbenL (@) Quiiserm () e

The third largest international airport in India is

(a) Chennai (b) Mumbai (c) Bengaluru (d) Delhi

2. o0 Pneegsar o defGedr, Qoualuseienss Qe Cu o drer Quieouimen QgmiL :

(=1) Calliiy smiy (<) mI&Ta) &My

(8) wslBé sy () 2 pusds emiy

The functional relationship between “inputs” and “outputs” is called as :
(a) Savings function (b) Consumption function

(c) Investment function (d) Production function

3.  a@mLIBArS Sl ks QauduBSSILLL eyam( :
(1) 2000 -2001 (<) 1989-1991 (@) 1981-1983 (m) 1990 - 1992
Annual Plans formed in the year :
(a) 2000-2001 (b) 1989-1991 (c) 1981 - 1983 (d) 1990 - 1992

4. @7 G mHFMs 2 PGS QsilcusHE GD Qsway :

(1) @msltlenad Caeay (<21) rmib CQeoey

(8) Qurss Csawey (r7) wror Qseey

The cost incurred by producing one more unit of output is cost.
(a) marginal (b) variable

(c) total (d) fixed

5. pllpprigd Sriurseagden wpédu epsmb -
(=1) ey (<2) 2bm) (&) srdaumiy (F) @erd
The main source of irrigation in Tamil Nadu is :

(a) well (b) river (c) canals (d) tank
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Goemar Qmdlpasl anmis@ swinng @EHULg
() wpPland Apdipsdlupm Copeme

() oEs Comen Qpdipas)

(@) Bens Caema

(m) wpdland Qpdlipidluyarerg

Elasticity of demand is equal to one indicates :
(a) Perfectly Inelastic Demand

(b) Unitary Elastic Demand

(c) Relatively Elastic Demand
(d) Perfectly Elastic Demand

Qsrensui(h erenLgl cramugen soad) CFuOUTH AEGD.

(=) sQbHS FOM6 (<) Caumur(®
(@) aueswyi (rF) &eenal
Integration is the reverse process of :

(a) Amalgamation (b) Difference
(c) Differentiation (d) Mixing

Epssam_aupmdr orgl (phniflenols Gumr_gufler @uieoy ?

(=) wewr Caumum(y (<) @ edduepanimert
(@) 2eGar HevpW (PIGLITE) (/) e efpuenamumearisar
Which of the following is a feature of monopolistic competition ?
(a) Product differentiation (b) One seller

(c) No entry (d) Few sellers

SpéaamcupmieT 678l panGardnid AL ps Hrlh ?

(=) Qymemen (<) QusAGar (@) ubeomsr () sremm
Which one of the following is a developed Nation ?

(a) France (b) Mexico (c) Sri Lanka (d) Ghana
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10.

11.

12,

13.

@néfleal Lwetur® yimlunrs @maEh durepsl Glorgsl Lwerum®
— . QM@

() yRB WS (<) @eopeuns (@) erfliwerpwns (7)) o-FFLOMF
When marginal utility reaches zero, the total utility will be :

{a) Zero (b)  Minimum (c) Negative (d) Maximum

‘@t epusdunent guLbssH apebd e empriural ser Uaflaw aiphdUsHETE
QarhéEn Qurss LaGL saalurEh” - Qs adlweur wrr ?
(=) aungsi (<=) Querammid (@) J.S. e (FF) LOTTage

“Wages as a sum of money are paid under contract by an employer to a worker for
services rendered” - Who said this ?

(a) Walker (b) Benham (c) J.S. Mill (d) Marshall

“vallsgeLw aurpasmsiler K@l pLagdmasmart Lund Qummafwe
S TMUSIng)"” erenmy smflweur ?

(1) eolArL rTage () LD el

(&) srapCeuchzan (F) Qewerd Frderav

“Economics is a study of mankind in the ordinary business of life” - It is the
statement of : '

(a) Alfred Marshall (b) Adam Smith

(c) Samuelson (d) Lionel Robbins

GpdHwrelle earss GL@IGE STTaMONSES SHESUL[H6IS) -

(=) @ifls e pLssl (<) Tipenio

(8) wpyCaama Hleva () <idls wéser Qgrens
Identify the cause for rural indebtedness in India,

(a) High Productivity (b) Poverty

(c) Full Employment (d) High Population
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14. @ruggiarf apeop s apsedld @flapsiuGEprui G :

15.

16.

(<) OB (<=p) Gayerm (@) warrregqrd (FF) eursmard
Ryotwari system was initially introduced in :

(a) Tamil Nadu (b) Kerala (c) Maharashtra (d) Bengal

QBSTY TETUF)

(=) fenavser sl Qe sems W HL GHESLD.

(<) Qurmeatsar aummiEligeog LB GD&EGLD.

(@) puisdr CrrgursGar soag) wermp&LTEEeaT CUTHETSET 6Tk @LW
ep@d wapaws GHEELD.

(7)) Qurmerser elpGULsms WL B GN&GLD.

A market is :

(a) Only a place where prices adjust

(b) Only a place to buy things

(c) A system where persons buy and sell goods directly or indirectly

(d) Only a place to sell things

LG rhigeT Hnib uaflaer el Grehug ;

(1) wHiyssal L LUl L el GuTag)

(<) L (paner auffl

(@) uepenar el WLHOID 2I(H&E edlanareysam DI
(F) 2AHE60EE lmarasamans Caram g)

Goods and Services Tax is

(a) like value added tax

(b) a multi point tax

(c) a single point tax with no cascading effects

(d) having cascading effects
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17. aynefl Qeeoydsrar cumicium)

18.

19.

20.

(<24) TVC/Q (<24) AVC/Q (@) AFC/Q () TC/Q

Identify the formula of estimating average cost.

(a) TVC/Q (b) AVC/Q (c) AFC/Q (d) TC/Q

Aptiys Qummartgmy wan_oé Qararms & QeuafludL iU L)

(=t) glred 2001 (<) grliped 2000 (@) gOaa 2001 (rF) s Oena 2000

The Special Economic Zones Policy was announced in

(a) April-2001 (b) April-2000 (c) July-2001  (d) July-2000

Gnaw ste 2 HusHE iy ergan wpald SPwrLGEng ?

(=) &80 @ema) 2 HusHE Car® (=) 95 iarey oflenaray 6l

(8) Coemeu 68 () wrmb 69488 Sierey edlevera) aflgl
The short-run production function is studied through :

(a) Iso-quants (b) The Laws of Returns to Scale

(c) Law of Demand (d) The Law of Variable Proportions

Hmeudrereuflar QUTHETTSTIS SHSHISET GHILTE Famicig) :
(1) aumiento FPpSTGSlem smuLD

(<=,) Gouermanrento

(@) Gsereud

() GuhHEamr SaGGILD

Thiruvalluvar Economic ideas mainly dealt with :

(a) Poverty is the curse in the Society

(b) Agriculture

() Wealth
(d) All of the above
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u@d - I1 / PART - II

@gﬂuq : ﬂs}sum(ﬁlugmm 61 (P m%nm&&;@e‘n@ e weflssa . eerm eram 30 -&@
SIS m‘,ﬂmuumﬂé’&aub. Tx2=14

Note :  Answer any seven questions. Q. No. 30 is Compulsory.
21, UWEUTLIGET CURSSETE Fnm)s.

Name the types of utility.

22. UGTLRSMET euanslLh&s)s.

Mention the classification of Goods.

23. o pusdé srmlemens GHLAGS.

State the Production Function.

24. Qaeflymn QFwe] — eueTWMISESHED.

Explicit Cost - Define.

25. uélife] erenmmed ereesr ?

What is meant by distribution ?

26. GODHS ST cUHLOTEL(HES sryaEisana VKRV, gré sapeuangls Ll igwslhis.

List out the reasons for low Per capita income as given by V.K.R.V. Rao.

27. oaysLl Qurr@mrrg;rrum - aJGWUJQJé'EMHL'D-

Define Rural Economy.

A [ puys / Turn over
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28. sUlPHTLHEGHHD e, o aneyll LUNTEen6Ts NKICES

Mention any four food crops which are favourable to Tamil Nadu.

29. Beppays Gumiiguien @emMueiowing Uamenus GHUIAHS.

Point out the cssential features of Perfect Competition.

30. uafiggmear (Worksheet) erempmed eremen ?

What is meant by worksheet ?

U@l - I / PART - III
GOy : aemeuBuend gy damésErse elmLwealssen. elarm erar 40 -5
sLLmuwng eilenLwefldse]L. 7x3=21

Note : Answer any seven questions. Q. No. 40 is Compulsory.

31. weafls ellpuunisaie Quamus ans.

Describe the features of Human wants.

32. Qsmpled wenenCGeurfler Lenflaer wrene ?

What are the functions of entrepreneur ?

33. Couarramenoll Qurmermsryn uHHl SbCugsher CLTBETTSTTS HHSSIHmens

En)&.
State Ambedkar’s economic ideas on agricultural economy.

34. euarfls aidadr CaAlLLWLIESILLLFHETE sMyamkismas GHLUHS.
State the reasons for nationalization of commercial banks.

35. 2 @&WILDTEH CTeDHIE) cramenm ?

What is meant by Globalization ?



https://www.padasalai.net/

9

36. @iy eaps cubdl (RRB) updl Gy euenys.

37.

38.

39.

40.

Write a note on Regional Rural Banks (RRB).

6047 |

&S gleopuild sWlppTiiger urmenmgry Cewddnenar eflerdgs.

Describe the performance of Tamil Nadu economy in health.

TR=50Q-4Q? eran sriL_(ererg). Q=3 erafle, @mlbleney cuBaurens sres.

Given TR=50Q0-4Q2. Find the marginal revenue when Q=3.

Qurmellwelar o Gfleysmers gmdl <teudmer gCoab gapoar ubi

efeuM&gEeyLb.

Name the Subdivisions of economics and explain any one of them.

synef QsaalhEib (AC) @mdHame Qenaln@n (MC) edrer GgmiLsamer (PSS

State the relationship between AC and MC.

v - IV / PART - IV

GiLY : Simasgl elamssené@h almiwaflésalb.

Note :

Answer all the questions.

Tx5=35

41. (=) Qummeflweel] updlw UoGay Gassamemd @UELH Caumu®sss.

(a) Compare and contrast various definitions of Economics.

(b)

ELV

OR

Explain the various sources of energy in Tamil Nadu.

(<) sLODBHM g @aTer LGan euamswTer D cueThisanar efleufl&sawb.

[ Swliys / Turn over
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42. (&) @eophg Cae QmAHeveots Lwestm_(® efldlenis QeSS

45.

et efleuflEsHaLD.

I
(<9)2015-2020 -pid pergparer & HHLOH QnsEwHs
ApuQuwdysamear eferdems.

Qg e em & udl e

(a) Elucidate the Law of diminishing marginal utility with a diagram.

OR
(b) Describe the salient features of EXIM Policy (2015-2020).

(=) e88l5 ey eflenerey alldlanw Q_g,numggLetr eNeTEGS.
S{6V60F)
(<) earpals Qunmenmaryly Ayédenansenar <mis.

(a) Elucidate the Laws of Returns to Scale with example.
OR

(b) Examine the problems of Rural Economy.

(=) uaCapul L dlmaoflomsaid AR bHHD MR Gar(s@psdlenLGuiwmer
QsrLffenL eNleméEs.
LTV
(<=) mISTCauM erésid erem &(HBSMS QUMTLIL SGIL 6T cflend@s.
(a) Bring out the relationship between AR and MR curves under various price

conditions.
OR

(b) Explain the theory of ‘Consumer’s surplus’ with the help of a diagram.

(=) BlepmayLs Guriiguie ereueury eflene WHMILD 2 PUSE SiaTay SivrafEst)
UG &g ?
LTV
(<) BB g QuIgSEIeD CUTEGAISE (popaLl eflanses.
(a) How price and output are determined under the perfect competition ?
OR

(b) Explain the public transport system in Tamil Nadu.
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46. (<=1) QLGN QU”@GT'T@”U@}Qm UIRITE 9|hamisemer eflalfléseL.
S|V G|
(<) QuiHer 2-PUSHS e udlie)s Garlur el elarsEs.
(a) Explain the strong features of Indian Economy.

OR
(b) Explain the Marginal Productivity theory of distribution.

47. (=) Qur@arrgry paGampsde Ay Qsrfa Hpeuamisaia Lhéamen
elleufldsayb.
S|V6V G
(<) ur@eflwe geonuled sseud Asmon L Lk aaeury LUELRSSI-
uhSHleTmer ?
(a) Explain the role of SSI in economic development.

OR

(b) What are the ideas of information and communication technology used in

Economics ?

-00o0-
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